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9. Use of any type of calculator or log table etc. is prohibited. | 1 B 1T ITRIGIS! T[0T HUT BT SR ATEN
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Q. No.
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Question
Index number isatypeof.................
=1 BT ... AT TPR 3o,

(A) Average (JRIRIRY) (B) Standard deviation ( 9HTY faga)

(C) Probability (T (D) Percentage (RIHSARY)
Time Reversal Test satisfies by ............

BT SChTRAl BT ... quf Hl.

(A) Laspeyre’s (@THIUSR) (B) Pasche’s (UTXdW)

(C) Fisher’s (Th2R) (D) J.M. Keynes (S1. TH. &-1)
Geometric mean of Laspeyre’s andfasche’s index number is......... indexTnumber.
SUSR [GMidh SN Urzesl (&I aid YA 7 Wur........ [Hdzns g1

(A) Kelley’s Index(P @) (B) Fisher’s Index(lh2R)

(C) Pasche’s Index(TTXAW) (D)  Adam Smith (GSH 1Y)
Probability of impossibl§ event willbe .........

SRR T USUgTE! YU ....... 3RS

(A) 05 B 1

<© 0 (D) 2

Probability cannot be -------

YT ...... 3 RMehd ATg!
(A) Negative (FBUT) (B)  Positive (4)
(©) Zero (FA) (D) One (UH)

In research, what is a "sample"?
GRNYATT TG TGOS H1?
(A) The entire population being studied (FJ01 @b ReHT 31T BH T I 31T8)
(B) A subset of the population selected for the study
SIS AR CERN R CREC IR RE)
(C) The data collected from the study (3T BT HSST S

(D) The research methodology used (:{craﬂnm MRl ‘v'l?ﬁ‘cﬂt@_cﬂ)

What does "validity" refer to in research?
GRNYATT "aear =1 JeH ST 31-?
(A) The consistency of a measure (HISTHTAT! )

(B) The accuracy of a measure SIh )
(C) The number of times a study is conducted (farcll deaT U BT Il

(D) The ability to generalize findings (FTSFSITa THTRAHRUT HIUTTT &)
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10.

11.

12.

13.
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Which of the following is an example of primary data?

Gt BV YU SeTd IETeRUl 3e?

(A) Data collected from a government report (RBR] SEATGIIT T OS] Sel)
(B) Data gathered through surveys or interviews

(Hdi&fuT febaT HORAdIgR TMiesT BT Sei)

(C) Data obtained from academic journals (R1&if0Teh SHAHYT U HooT Sl

(D) Data from a textbook (UTGAYEIBICI® Scl)

What is a literature review?
e THIET TS B2
(A) A summary of findings from an experiment(JIRTI® fsem ST TRT)
(B) An analysis of existing research on a topic (Tl fasaTadte® faemmM Id=nerd fazow)

(C) A detailed account of how research was conducted

(SR Y Ho 710 I TURNGAR JuH)
(D) A discussion of future research directions (HfISTc® T=NYH fazT=i <)

Which of the following is a characteristic of quantitative research?
DI TS TN IR 31182
(A) Focuses on numerical data (SRSHTHD SR B&f bigd HRd)
(B) Explores phenomena in a natural setting (W AT geT 2MeH or>€<\1)
(C) Seeks to understand human experiences (AT-d! 3IHd UG YU T Hd)
(D)  Uses open-ended questions (Jicrdid SEL | dluia)

Which of the following best describes "random sampling™?
o~ o C Y
$|Ula "Yielwdh 1HAT" El diTH qUlH oprd?
(A) Selecting part|C|pants based on speC|f|c characteristics

SNYTRT FgUriidt fAae)
(B) Selecting participants in a way that each has an equal chance of being chosen
(IASTOT FHase STuar 90 el fiese 3= UbR gUrii Ao »0)
(C) Selecting participants who are most easily accessible
(ald Ggel Yazrrg GeH faso)

(D) Selecting participants based on their willingness to participate —

(EEHTT BIvaT Il Fwvar TUTRA TeHriTdt as &l -)

What is the main advantage of using a longitudinal study?

IR 3T ATIRUG IR BTaal H1 3Hg?
(A) It is quick and inexpensive to conduct (d ATGATTGT TG4 0T WK 3HTR)
(B) It provides insight into changes over time (& PTGTAR da@ ! 3ded! UM &)
(C) It requires a small sample size (ATHTS] S TAT SHR AT 3T5)

(D) It avoids any ethical concerns (g HIUTATS! e el ES))

For maX|ma or minima, the function should be ........

HOTd HETHT ST FATHAT SR HEIHUA HRUANIS! d H....... 30 Tifes!

(A) Discontinuous (3fdd) (B) Two variable (G T®)
(C) Continuous (Idd) (D)  Three variable (< IS)
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14.

15.

16.

17.

18.

19.
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Which of the following is a measure of central tendency?

WS TEUD! DIV HHa UgiTe AT 3182
(A) Range (faxR) (B)  Standard deviation (JHTY fa<ia=)
(C) Mean (He) (D)  Variance (WdIRU)

What is an "independent variable" in research?

RN "W I TGUS HT?
(A) The variable that is measured or observed (HISTHTY fdhar fAR1E0 oo T)
(B) The variable that is manipulated by the researcher (‘v'i'iﬁ‘c‘lom:l sldlobc\bc\b q0)
(C) The variable that remains constant (RR J&d d IS)
(D)  The variable that depends on other variables (I S AR dATAR &déq\ﬂ Wﬁ)

Derivative of any constant is .............

PTG RIS f[dbed ... 3™dl
(A) More than one (THUET SIIK) (B)  Less than zero ([ATUET F8M)

(©) Zero R (D) One (Uh)

What is a "cross-sectional study"?
" Bad HIAT SN " TgUTS! DTY?
(A) A study that examines a population at one specific point in time
(W1 faRRy fogar Slpdaa TRIEUr HRUIRT 311971)
(B) A study that follows participants over an extended period
(T 31T ST I proTaeiaret FeHmiia SR &)
(C) A study that compares two or more groups over time

(@ fohd1 i et HISTART TS BHRUIRT 31AT)

(D) A study that involves repeated observations of the same variables

(U 31T L A goial aRAR FM&0 Ty $ed)

Which of the following is an example of secondary data?
WA BIUTd GEH FHD o IaTg Ul 3Tg?
(A) Data collected from a new survey (A= HA&UNIH BT HG BT THD)

(B) Data obtained from a previously conducted study

(AT ST HSGAT NI U ho ol GHb)
(C) Data collected through interviews (JETRITGR JHP MBT H 1)
(D) Data obtained from an experiment (JARTIA BTG ST THD)

Which of the following is a non-probability sampling method?

WA IO FHTHT THeIe T T 3HTR?
(A)  Simple random sampling (JT8 ATefwsdh TH)
(B) Stratified sampling (JRIPpd 9
(C) Cluster sampling (g TG F8)

(D) Convenience sampling (I TG fAaE)
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20.

21.

22.

23.

24.

25.

26.
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Which of the following sampling method is appropriate to study the prevalence of AIDS amongst male
and female in India in 1976, 1986, 1996 and 20067

1976, 1986, 1996 31101 2006 T YR TAl-GSHHE TSN THRTAT S HRUIRITS]
GBIV T Ugd A 31152

(A) Cluster sampling (J9g 991 fAae)

(B) Systematic sampling (GGdRIR TG FaS)

(C©) Quota sampling (3I¥ITRT THAT

(D) stratified random sampling (%d{nlqu g d H-T)

Field-work-based research is classified as:

(A) Empirical (3FHIS) (B) Historical (UfdgTRiep)
(C) Experimental (ITIRI) (D) Biographical (ARATE®)

Generalization of conclusion on the basis of a sample is technically known as:
THATEAT STUR NG FhY difAdbesed ... U Hid@d S

(A) Data analysis and interpretation (He fazowuT 31f0T soRa)

(B)  Parametric inference (U 3{THT)

(C) statistical inference (HiREIDIT STHM)

(D) Conclusions

In the Game Theory, the outcome or consequence of a strategy is known as...
Wos RIGIATd® SggTral B Ay -----FgUrdid

(A)  Payoff (H®) (B) Penalty (G8)
(C) Reward (9&f19) (D)  Zero Sum Game ([ SRS WD)

The equality of minimax and maximin gives--------
AT Hgad S0 HETHTdS YAaY i A - d,

(A)  Point of inflection (TATURIAc Tag) (B)  Point of Maxima (PHT® fdg)

(C) Point of minima (fea= foig ) (D)  Saddle point (UG faig)
The optimal solution of linear programming always exists in----------- quadrant.
SR TS WYTe T SR AGHT —-----aROTd ST 3.

(A) First (Ufgean) (B) Second (G

(C) Third (fo=am) (D)  Fourth (I
Microeconomics is primarily concerned with?
e 3R U HRR A& fid g2

(A)  The behavior of the economy as a whole (YUl S{aRId aciH)

(B) The behavior of individual markets and consumers (3afadids STTR 30T g1 de)
(C) The study of economic growth over time (@TGTART 3T dTeTdT 31TT)

(D) The study of inflation and unemployment (FETTTs 30T SRISFIR T 31307¥)
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28.

29.

30.

31.

32.
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The law of demand states that -----

E IR e3[R ] 7 f—
(A) As price increases, quantity demanded decreases (fPHd dT@®! B! ARV JHTU HH! gId)
(B) As price increases, quantity demanded increases (%q?r JTeo! oI, ARTTR gHT0T Eﬂ%ﬁ)

(C) As price decreases, quantity demanded decreases
(fuat st Arearges grTofle gHTur &4 gld)
(D) There is no relationship between price and quantity demanded —

(FRTO FSTT RGBT SV fhHd Jred HIvre! Hee TG -)

What is the opportunity cost?

e T Wl B 2
(A) The monetary cost of a good or service (3% fdrar Ta=t 3nfdfer fohma)

(B) The next best alternative forgone when a decision is made
(Fufg SaeaTeR Yeie varaH uaid fauReT Sl

(C) The cost of all alternatives when a choice is made
CSiegT as H3t 91 degT 9d yaiareh fdhad)

(D) The total cost of production (TUT IcdTG- )

Which of the following is a considered factor of production?
WU BV ged Sale-Tdl ged A ofd)?

(A) Money (U (B)  Labour ()
(C) Government regulation (SRBRT fHA) (D)  Consumer goods (SUHIT T

What happens when the price of a substitute goods decreases?

SIgT T aed! fdhAd FHH! gid dagl 1 Bia?
(A) The demand for the original good increases (Jc& TG ARTUN TG d)
(B) The demand for the original good decreases (4 HTSTA! HNTU 6! gld)
(C) The supply of the original good increases (Jc5 ATGT YRS dledl)
(D) The supply of the original good decreases (de5 HTGT QST HHT gl

Current account and capital account are the two main accounts of -----------

CIVEEI SR R CE [ RG] f—— o TReT el 3R
(A) Foreign exchange account (IR 1T fafTg @ra)
(B) Balance of payments (GIdgR dI®)

(C) Bank deposits (¥ dT)
(D) D-MAT account (31— He @Td)

Current account records -------
ELVEC|[2 |31 J— ot Aig gid
(A) Capital Goods (HISdS! T
(B) Trade in Services (Hdidl AR )
(C) Trade in Goods & Services (A%] d Ydidl AUR )

(D) Inferior Goods (S a¥q)
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34.

35.

36.

37.

38.

39.
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Under fixed exchange rate system and Perfect Capital Mobility, monetary policy is-------

fRR faf g ar 3 Uiyl Hisae I&ar SRIamT, Mg RO - oeoeeo- 3d

(A) Effective (THTdT) (B) Ineffective (STHHTdT)
(C) Non-significant (3(Fg@YUr) (D) Important (8T
Exports beeome relatively cheaper after --------
----------- AR fafd s g

(A) Currency devaluation (TS-THAT HTHSATHIR)
(B) Currency appreciation (F-TAT |
(C) Dumping (37dUsiA)

(D) Anti-dumping (Jfd 3{dGST)

Perfect capital mobility implies ---
gRgul HISTS TG --mv
. . . . Y . [of
(A) Domestic interest rate = foreign interest rate (GNd¥Id cAToIaR = fdqzf TEER)
N o
(B) Domestic interest rate > foreign interest rate (GNdId cAToIGY > fAgzT TIER)
. . . . N . C
(C) Domestic interest rate < foreign interest rate (GNdiId oAToIaR < faqzl TTER)
(D) Savings = investments (§Td = J[ddUd)

Which of the following is the primary objective of public finance?

TSI+ faamEn UTifiies I8 B 311g?
(A) Economic Stability (3T feu=am) (B)  Economic Inequality (3T faswam)
(C) Political Stability (RIS 1T U= (D)  Social Inequality (TTHTIST fasHaT)

Who is responsible for preparing the Union Budget in India?
YRAHH 41T 3w TIR SRV TSGR HITH! SHc?
(A)  President of India (YR FU) (B)  Finance Minister (3{H3)

(©)  Prime Minister (GdUYT) (D) Reserve Bank of India(HRdTa g 9)

Which tax is IeV|ed by the Central Government but collected by the State Government’?
W HQGhNgN cITdedT SITUTIRT L‘Rgl RIvY {-NGbNQIQ BT B AT SR HR BT \’rﬂ%’7

(A) GST (SITHd) (B) Income Tax (SUA hR)
(C) Customs Duty (HHR[G®) (D) Stamp Duty (&I X[ID)
What does FRBM Act stand for...
FRBM ST QUi U 6T 3MTg?
(A) Fiscal Responsibility and Budget Management
(fa<iia STReA@ ST SiiH AU cHaRITIH)

(B) Financial Respon5|b|I|ty and Budget Management
(3N IR SNfor srfiwma Uiy suawiTy)
(C) Fiscal Reform and Budget Management (faxiia geRoT SM1foT sriiwa Ul awima)
(D)  Financial Reform and Budget Management (3{Te JURUT 30T G @U FHaRITIH)
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41.

42.

43.

44,

45.
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Which is the largest source of revenue for the Central Government in India?
[al C N N Y
HRd AP RATS] Hd[d HIST HeJd Hid P UIdI ?rﬂ%?

(A) GST (Sieadh (B) Income Tax (ST h)
(C) Excise Duty (SdTG I[AP) (D) Corporate Tax (BTURE HX)

Financial intermediaries are those institutions that mediate between ultimate lenders and --------

forita Ty | 31T TAT 3iTed i, ST 3ifaH Hof SO ST - g A 7Rl B

(A)  Indigenous Money Lenders (Ydazid HIGHTR)
(B) Depositors

(C) Ultimate borrowers (3ifdd HoiaR)
(D) Ultimate owners (3{fdd ATGD)

Repo rate means ----------

EUIKCREI [ p—

(A) Short term interest rate charged by RBI
(RSTd depgIR SHTHRUTT YUIRT ST TSI &)
(B) Bank rate charged by RBI (RSTd §ehgR 3{TehRUTTd YUIRT Seb &)

(C) Interest rate charged by bank (SBTgIR THIUATA JUTRT HTSIT GX)
(D) The official rate of interest charged by RBI

(Ro1d JhgR 3MHRUATd JURT TSR SRS &)

Which one of the following concept of money supply known as Aggregate Monetary Resource
(AMR)?

DIV Th YheUT T Ad Hifads T (AMR) IT TG 3Nesaudrd Ad 2
A) M B) M:
(©) Ms (D) Ma

In order to control credit supply, the Central Bank of country should ----

JARASATHAT (HAAUNH AT SR e S DR -

(A) Buy securities in the open market & lower the cash reserve.

(G&UT STSTRAY IR TG DR ST I I e G0 helt o)

(B) Buy securities from the open market & hike the cash reserve ratio.

(G&UT STSTRAY IR TG DR ST AW I e G0 g as.)

(C) Sell securities in the open market & hike the cash reserve ratio.

(G&UT STSTRAYS IR fasht HRe SATION I Igiid (e gm0 argas.)

(D) Sell securities in the open market & lower the cash reserve ratio.

(G&UT STETRAY IR fdehl DR ST RIW I e gH10r heft R

Which one of the following is not a type of quantitative instrument of credit control?
DI T U AU TP HIYATE YR TE?
(A) Open market operation. (&A1 ITSTRIAI® AdER)
(B) Cash reserve ratio. (X1 Xatd fAferr v
(C) Statutory liquidity ratio (T IFc THTON)
(D) Regulation of consumer credit. (g HoiTd fTHH)
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47.
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49.
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As per the New Industrial Policy of 1991, the Foreign Direct Investment (FDI) limit in certain high-
priority industries was raised to:

1991 TT A TS TRUTTIR, HTE! I@- Ul SRGSdT STRTHE I RSB ddud

(FDI) iG] aTequaTd 3Tt
(A) 26% (B) 49%
(C) 51% (D) 74%

What is the primary objective of the disinvestment policy in India?
RdTde fArfdaue 4R urufie IEF F1 g2
(A) To increase government ownership in public sector enterprises
(TSI ST SUHHHE TRBRY HIdS! dTeaon)
(B) To reduce the fiscal burden on the government (?IWRT:R%T 3fdfes ﬂ-ﬂ?ﬁm
(C) To promote foreign direct investment (FDI) (3T TReb 1T T[daU[dbIal WE (FDI) G0)

(D) To strengthen the monopoly of public sector enterprises

(AT AT SUBHT HRIGRT Holgd HR0)

Which Indian state has the highest sex ratio according to the 2011 Census?

2011 T SFUHIIR PI0TT HR T IsaTd Faiidd i oM $g?

(A) Kerala (1) (B)  Tamil Nadu (qTT8es 1)
(C)  Andhra Pradesh (318 UG (D) Punjab (UolTe)

Which regulatory body was established as a result of the New Industrial Policy of 1991 to promote

competition and restrict monopolistic practices in India?
1991 =0T 7414 ST SR g U YR W Ui Suarma! Sfor
HadeRIgad UG- Uidse HRUIMTST vl (IS TR RITIHT HRUAT 3T
(A) Reserve Bank of India (RBI) (HRda Rgi® 9% (RBI))
(B) Securities and Exchange Board of India (SEBI)

IR 3is TS a1 31Tt 3f$aT (SEBI))
(C) Competition Commission of India (CCI) (HR<ia T4 3TN (CCI))
(D) Board of Industrial and Financial Reconstruction (BIFR)

(3NNl i 3nffes g He s (BIFR))

What is the main factor contributing to the decline in India's fertility rate over the past few decades?
T B! GRIBHY YRATAT US-H GRId U¢ BTN HIUMd Ucdh HRUNYT 3Med?

(A) Increased urbanization (AT RTGIIHRUN)

(B) Higher infant mortality rates (3 ITAHY &)
(C) Increased agricultural employment (%81 RISHTR dT@U1)

(D) Decline in literacy rates (HT&Rd<T &I °CT)

*hkkkkikkikk
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